

## Asymptotic behaviour of solutions of mixed problem for linear thermoelastic systems with microtemperatures and microstretch

Gulshan Kh. Shafiyeva

Received: 03.03.2021 / Revised: 20.09.2021 / Accepted: 02.11.2021

**Abstract.** *In this paper, we study the mixed problem with dissipative boundary conditions for linear thermoelastic system with microtemperatures. We investigate the correctness of the mixed problem and set the exponential decay of the energy norm of solutions.*

**Keywords.** Thermoelastic systems with microtemperatures, mixed problem, exponential decay rate.

**Mathematics Subject Classification (2010):** 35M10, 35M33, 35L20, 74A15

### 1 Introduction

In this paper, we study decay properties of solutions of the initial boundary-value problem associated with the following thermoelastic system

$$\begin{cases} u_{tt} - \mu^2 \Delta u + b \nabla \theta = 0, \\ \varphi_{tt} - \alpha^2 \Delta \varphi + \omega \nabla w = 0, \\ \theta_t - k \Delta \theta + \beta \nabla u_t + g \nabla w = 0, \\ w_t - \gamma \Delta w + h \nabla \varphi_t + m \nabla \theta = 0, \end{cases} \quad (1.1)$$

where  $\mu, \alpha, k, \gamma$ , are some positive constants,  $b, \omega, \beta, g, h$  and  $m$  are some constants,  $u = u(x, t)$ ,  $\varphi = \varphi(x, t)$ ,  $\theta = \theta(x, t)$ ,  $w = w(x, t)$ ,  $x = (x_1, x_2, \dots, x_n) \in \Pi = [0, 1]^n$ ,  $\nabla = \text{div}$ ,  $\Delta = \sum_{i=1}^n \frac{\partial^2}{\partial x_i^2}$ .

In the case  $n = 1$ , system (1.1) is a one-dimensional model of the theory of thermoelasticity, which is known in the literature as Eringen's theory of micromorphic continua. Eringen [3,4] introduced a class of micromorphic solids, called microstatic solids, simulating porous media filled with gas, non-viscous liquids, or composite materials with chopped elastic fibers. The material points of these materials can stretch and contract regardless of their movement and rotation. To date, there is an extensive literature devoted to the theory of micromorphic continua, in which deformation is described not only by the usual vector displacement field, but also by other vector or tensor fields (see [3-7, 9-12]). Within this theory,  $u$  represents the mixing stress,  $\varphi$  – microstress,  $\theta = T_a - T_0$  the absolute temperature difference, and  $w$  microtemperature, respectively.

G.Kh. Shafiyeva

<sup>1</sup>Institute of Mathematics and Mechanics of NAS of Azerbaijan

<sup>2</sup>Baku State University, AZ 1148, Baku, Azerbaijan

E-mail: gulshan.shafiyeva@mail.ru

## 2 Formulation of the problem and the main result

Let

$$x_{r,i} = (x_1, \dots, x_{i-1}, r, x_{i+1}, \dots, x_n), \quad \tilde{x}_i = (x_1, \dots, x_{i-1}, x_{i+1}, \dots, x_n),$$

$$\Pi_i = \{\tilde{x}_i : \tilde{x}_i = (x_1, \dots, x_{i-1}, x_{i+1}, \dots, x_n), 0 \leq x_k \leq 1, k = 1, \dots, n, k \neq i\}.$$

For system (1.1), we will investigate the mixed problem with boundary and initial conditions

$$u(x_{0,i}, t) = \varphi(x_{0,i}, t) = 0, \quad (2.1)$$

$$\theta(x_{0,i}, t) = w(x_{0,i}, t) = \theta(x_{1,i}, t) = w(x_{1,i}, t), \quad (2.2)$$

$$\frac{\partial u(x_{1,i}, t)}{\partial x_i} + u_t(x_{1,i}, t) = 0, \quad (2.3)$$

$$\frac{\partial \varphi(x_{1,i}, t)}{\partial x_i} + \varphi_t(x_{1,i}, t) = 0, \quad (2.4)$$

$$u(x, 0) = u_0(x), \quad u_t(x, 0) = u_1(x), \quad (2.5)$$

$$\varphi(x, 0) = \varphi_0(x), \quad \varphi_t(x, 0) = \varphi_1(x), \quad (2.6)$$

$$\theta(x, 0) = \theta_0(x), \quad w(x, 0) = w_0(x), \quad (2.7)$$

where  $(\tilde{x}_i, t) \in \Pi_i \times [0, +\infty)$ ,  $i = 1, 2, \dots, n$ ,  $x \in \Pi$ .

Assume that

$$\mu > 0, \alpha > 0, k > 0, \omega > 0, \quad (2.8)$$

and there are constants  $\lambda_0, \lambda_1$  and  $\lambda_2$  such that

$$\begin{cases} \lambda_i > 0, & i = 0, 1, 2, \\ m = \lambda_0 g, \\ \lambda_0 \beta = \lambda_1 b, \\ \lambda_2 \omega = h. \end{cases} \quad (2.9)$$

We introduce the following notation:

$$L_2 = L_2(\Pi), \quad W_2^1 = W_2^1(\Pi), \quad W_2^2 = W_2^2(\Pi),$$

$$W_{2,\Gamma_1}^1 = \{u : u \in W_2^1(\Pi), u(x_{0,i}) = 0, \tilde{x}_i \in \Pi_i, i = 1, \dots, n\},$$

$$W_{2,\Gamma}^1 = \{u : u \in W_2^1(\Pi), u(x_{0,i}) = u(x_{1,i}) = 0, \tilde{x}_i \in \Pi_i, i = 1, \dots, n\}.$$

In the space  $H = W_{2,\Gamma_1}^1 \times L_2 \times W_{2,\Gamma}^1 \times L_2 \times L_2 \times L_2$  we introduce the scalar product as follows:

$$\begin{aligned} \langle w, z \rangle_H &= \lambda_1 \mu^2 \int_{\Pi} \nabla v_1 \nabla z_1 dx + \lambda_1 \int_{\Pi} v_2 z_2 dx + \lambda_2 \alpha^2 \int_{\Pi} \nabla v_3 \nabla z_3 dx + \\ &+ \lambda_2 \int_{\Pi} v_4 z_4 dx + \lambda_0 \int_{\Pi} v_5 z_5 dx + \int_{\Pi} v_6 z_6 dx, \end{aligned}$$

where  $w = (v_1, \dots, v_6)$ ,  $z = (z_1, \dots, z_6) \in H$ .

Let  $H_0$  be the space defined by

$$H_0 = \{w : w = (v_1, \dots, v_6), v_1, v_3 \in W_2^2 \cap W_{2,\Gamma_1}^1, v_2, v_4 \in W_{2,\Gamma_1}^1, \\ v_5, v_6 \in W_2^2 \cap W_{2,\Gamma}^1, \frac{\partial v_1(x_{1,i})}{\partial x_i} + v_2(x_{1,i}) = 0, \frac{\partial v_3(x_{1,i})}{\partial x_i} + v_4(x_{1,i}) = 0, \\ \tilde{x}_i \in \Pi_i, i = 1, \dots, n\}.$$

In the space  $H$ , we define a linear operator  $A$  by setting

$$D(A) = H_0, \\ Aw = (v_2, \mu^2 \Delta v_1 - b \nabla v_5, \alpha^2 \Delta v_3 - \omega \nabla v_6, k \Delta v_5 - \beta \nabla v_2, \\ -g \nabla v_6, \gamma \Delta v_6 - h \nabla v_4 - m \nabla v_5).$$

**Lemma 2.1** *A is a maximally dissipative operator in H.*

By Lemma 2.1, the operator generates a strongly continuous semigroup  $U(t) = e^{tA}$ . If  $w_0 \in H$ , then  $w(t) = e^{tA}w_0$  is a weak solution to problem (1.1), (2.1)-(2.4).

Thus, the following theorems holds.

**Theorem 2.1** *Let conditions (2.8), (2.9) be satisfied. Then for any  $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H$  problem (1.1), (2.1) - (2.4) has a unique "weak" solution  $(u, \varphi, \theta, w)$ , where*

$$u, \varphi \in C([0, \infty); W_{2,\Gamma_1}^1) \cap C^1([0, \infty); L_2), \theta, w \in C([0, \infty); L_2).$$

**Theorem 2.2** *Let conditions (2.8), (2.9) be satisfied. Then for any  $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H_0$  problem (1.1), (2.1)-(2.7) has a unique solution  $(u, \varphi, \theta, w)$ , where*

$$u, \varphi \in C([0, \infty); W_2^2 \cap W_{2,\Gamma_1}^1) \cap C^1([0, \infty); W_{2,\Gamma_1}^1) \cap C^2([0, \infty); L_2), \\ \theta, w \in C([0, \infty); W_2^2 \cap W_{2,\Gamma}^1) \cap C^1([0, \infty); L_2).$$

Let us  $E(t)$  denote the energy function

$$E(t) = \int_{\Pi} \left[ |u_t(x, t)|^2 + |\varphi_t(x, t)|^2 + |\nabla u(x, t)|^2 \right. \\ \left. + |\nabla \varphi(x, t)|^2 + |\theta(x, t)|^2 + |w(x, t)|^2 \right] dx. \quad (2.10)$$

In order to show an exponential decrease of energy, we use the following well-known result.

**Lemma 2.2** (see [8]). *Let  $t \rightarrow y(t) : [0, \infty) \rightarrow [0, \infty)$  is a monotonically decreasing function and there is a constant  $c > 0$  such that*

$$\int_S^T y(t) dt \leq cy(S), \quad 0 \leq S \leq T. \quad (2.11)$$

Then there exist constants  $\omega > 0$  and  $M \geq 1$  such that

$$y(t) \leq M e^{-\omega t} y(0), \quad 0 \leq t < +\infty. \quad (2.12)$$

Here the following main result is obtained on the behavior of the energy function at infinity.

**Theorem 2.3** *Let conditions (2.8), (2.9) be satisfied. Then there are numbers  $M \geq 1$  and  $\sigma > 0$  such that for any  $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H$  the following inequality holds:*

$$E(t) \leq M e^{-\sigma t} E(0), \quad (2.13)$$

where

$$E(0) = \int_{\Pi} \left[ |u_1|^2 + |\varphi_1|^2 + |\nabla u_0|^2 + |\nabla \varphi_0|^2 + |\theta_0|^2 + |w_0|^2 \right] dx. \quad (2.14)$$

### 3 Proof of Lemma 2.1.

Let  $w = (v_1, \dots, v_6) \in D(A)$ . Then we have

$$\begin{aligned} \langle Aw, w \rangle_H &= \lambda_1 \mu^2 \int_{\Pi} \nabla v_2 \cdot \nabla v_1 dx + \lambda_1 \int_{\Pi} [\mu^2 \Delta v_1 - b \nabla v_5] v_2 dx \\ &+ \lambda_2 \alpha^2 \int_{\Pi} \nabla v_4 \cdot \nabla v_3 dx + \lambda_2 \int_{\Pi} [\alpha^2 \Delta v_3 - \omega \nabla v_6] v_4 dx \\ &+ \lambda_0 \int_{\Pi} [k \Delta v_5 - \beta \nabla v_2] v_2 dx + \int_{\Pi} [\gamma \Delta v_5 - h \nabla v_4 - m \nabla v_5] v_6 dx. \end{aligned}$$

Integrating by parts and taking into account (1.1), (2.1)-(2.4), we obtain from this that

$$\begin{aligned} \operatorname{Re} \langle Aw, w \rangle_H &= -\lambda_0 k \int_{\Pi} |\nabla v_5|^2 dx - \gamma \int_{\Pi} |\nabla v_6|^2 dx \\ &- \lambda_1 \mu^2 \int_{\Pi_i} |v_2(x_{1,i})|^2 d\tilde{x}_i - \lambda_2 \alpha^2 \int_{\Pi_i} |v_4(x_{1,i})|^2 d\tilde{x}_i \leq 0. \end{aligned} \quad (3.1)$$

Thus  $A$  dissipative operator.

Now we will show that  $A$  is an invertible operator.

Consider the equation

$$Aw = h, \quad (3.2)$$

where  $h = (h_1, \dots, h_6) \in H$ . Eq. (3.2) is equivalent to the boundary-value problem for the system

$$\begin{cases} v_2(x) = h_1(x), \\ \mu^2 \Delta v_1(x) - b \nabla v_5(x) = h_2(x), \\ v_4(x) = h_3(x), \\ \alpha^2 \Delta v_3(x) - \omega \nabla v_6(x) = h_4(x), \\ k \Delta v_5(x) - \beta \nabla v_2(x) - g \nabla v_6(x) = h_5(x), \\ \gamma \Delta v_6(x) - h \nabla v_4(x) - m \nabla v_5(x) = h_6(x), \end{cases} \quad x \in \Pi, \quad (3.3)$$

with boundary conditions

$$v_1(x_{0,i}) = 0, v_2(x_{0,i}) = 0, v_3(x_{0,i}) = 0, v_4(x_{0,i}) = 0, \quad (3.4)$$

$$\frac{\partial v_1(x_{1,i})}{\partial x_i} + v_2(x_{1,i}) = 0, \quad (3.5)$$

$$\frac{\partial v_3(x_{1,i})}{\partial x_i} + v_4(x_{1,i}) = 0, \quad (3.6)$$

$$v_5(x_{0,i}) = v_5(x_{1,i}) = 0, \quad (3.7)$$

$$v_6(x_{0,i}) = v_6(x_{1,i}) = 0, \quad (3.8)$$

where  $\tilde{x}_i \in \Pi_i$ ,  $i = 1, \dots, n$ .

Setting  $v_2 = h_1$  and  $v_4 = h_3$  in the fifth and sixth equations in (3.3) and in the boundary conditions (3.4)-(3.8), we get the boundary-value problem

$$\begin{cases} \mu^2 \Delta v_1(x) - b \nabla v_5(x) = h_2(x), \\ \alpha^2 \Delta v_3(x) - \omega \nabla v_6(x) = h_4(x), \\ k \Delta v_5(x) - g \nabla v_6(x) = h_5(x) + \beta \nabla h_1(x), \\ \gamma \Delta v_6(x) - m \nabla v_5(x) = h_6(x) + h \nabla h_3(x). \end{cases} \quad (3.9)$$

$$v_1(x_{0,i}) = 0, \quad v_3(x_{0,i}) = 0, \quad (3.10)$$

$$\frac{\partial v_1(x_{1,i})}{\partial x_i} = -h_1(x_{1,i}), \quad \frac{\partial v_3(x_{1,i})}{\partial x_i} = -h_3(x_{1,i}), \quad (3.11)$$

$$v_5(x_{0,i}) = v_5(x_{1,i}) = 0, \quad (3.12)$$

$$v_6(x_{0,i}) = v_6(x_{1,i}) = 0, \quad (3.13)$$

where  $\tilde{x}_i \in \Pi_i, i = 1, \dots, n$ .

First we solve the system

$$\begin{cases} k\Delta v_5(x) - g\nabla v_6(x) = h_5(x) + \beta\nabla h_1(x), \\ \gamma\Delta v_6(x) - m\nabla v_5(x) = h_6(x) + h\nabla h_3(x), \end{cases} \quad (3.14)$$

with boundary conditions (3.12), (3.13).

In the space  $\mathcal{H} = W_{2,\Gamma}^1 \times W_{2,\Gamma}^1$  consider the bilinear form

$$\begin{aligned} B[w^1, w^2] &= \delta k \int_{\Pi} \nabla v_5^1(x) \nabla v_5^2(x) dx + \delta g \int_{\Pi} \nabla v_6^1(x) \nabla v_5^2(x) dx \\ &+ \gamma \int_{\Pi} \nabla v_6^1(x) \nabla v_6^2(x) dx + m \int_{\Pi} \nabla v_5^1(x) \nabla v_6^2(x) dx, \end{aligned}$$

where

$$w^1 = \begin{pmatrix} v_5^1 \\ v_6^1 \end{pmatrix}, \quad w^2 = \begin{pmatrix} v_5^2 \\ v_6^2 \end{pmatrix}, \quad \delta = \frac{m}{g}.$$

Using the Hölder and Poincaré inequalities, we obtain

$$\begin{aligned} |B[w^1, w^2]| &\leq \delta k \left| \int_{\Pi} \nabla v_5^1(x) \nabla v_5^2(x) dx \right| + \delta g \left| \int_{\Pi} \nabla v_6^1(x) \nabla v_5^2(x) dx \right| \\ &+ \gamma \left| \int_{\Pi} \nabla v_6^1(x) \nabla v_6^2(x) dx \right| + m \left| \int_{\Pi} \nabla v_5^1(x) \nabla v_6^2(x) dx \right| \\ &\leq \frac{1}{2}(\delta k + m) \int_{\Pi} |\nabla v_5^1(x)|^2 dx + \frac{\delta}{2}(k + c_0 g) \int_{\Pi} |\nabla v_5^2(x)|^2 dx \\ &+ \frac{1}{2}(\delta g + \gamma) \int_{\Pi} |\nabla v_6^1(x)|^2 dx + \frac{1}{2}(\gamma + mc_0) \int_{\Pi} |\nabla v_6^2(x)|^2 dx \\ &\leq M_0 \left[ \|v_5^1\|_{W_{2,\Gamma}^1}^2 + \|v_5^2\|_{W_{2,\Gamma}^1}^2 + \|v_6^1\|_{W_{2,\Gamma}^1}^2 + \|v_6^2\|_{W_{2,\Gamma}^1}^2 \right] \\ &= M_0 \left[ \|w^1\|_{\mathcal{H}}^2 + \|w^2\|_{\mathcal{H}}^2 \right], \quad (3.15) \end{aligned}$$

where

$$c_0 = \inf_{z \in W_{2,\Gamma}^1} \frac{\int_{\Pi} |z(x)|^2 dx}{\int_{\Pi} |\nabla z(x)|^2 dx}, \quad M_0 = \max \left\{ \frac{1}{2}(\delta k + m), \frac{\delta}{2}(k + c_0 g), \frac{1}{2}(\delta g + \gamma), \frac{1}{2}(\gamma + mc_0) \right\}.$$

For  $w = \begin{pmatrix} v_5 \\ v_6 \end{pmatrix} \in \mathcal{H}$  we have

$$B[w, w] = \delta k \int_{\Pi} |\nabla v_5(x)|^2 dx + \delta g \int_{\Pi} \nabla v_5(x) v_6(x) dx$$

$$\begin{aligned}
& +\gamma \int_{\Pi} |\nabla v_6(x)|^2 dx + m \int_{\Pi} \nabla v_6(x) v_5(x) dx \\
& = \delta k \int_{\Pi} |\nabla v_5(x)|^2 dx + \gamma \int_{\Pi} |\nabla v_6(x)|^2 dx \geq m_0 \|w\|_{\mathcal{H}}^2.
\end{aligned} \tag{3.16}$$

It follows from the definition of  $H$  and (3.2) that

$$h_5(x) + \beta \nabla h_1(x) \in L_2(\Pi), \quad h_6(x) + h \nabla h_3(x) \in L_2(\Pi). \tag{3.17}$$

Relations (3.15)-(3.17) show that all conditions of the Lax-Milgram theorem are satisfied. Therefore, there are unique functions satisfying (3.12)-(3.17) in the weak sense.

By (3.14) we get

$$\Delta v_5(x) = \frac{g}{k} \nabla v_6(x) + \frac{1}{k} h_5(x) + \frac{\beta}{k} \nabla h_1(x) \in L_2(\Pi),$$

and consequently,  $v_5(x) \in W_2^2 \cap W_{2,\Gamma}^1$ . In a similar way, we obtain that  $v_6(x) \in W_2^2 \cap W_{2,\Gamma}^1$ .

Setting  $v_5(x)$  and  $v_6(x)$  in the first two equations in system (3.9), we obtain a boundary-value problem for systems with respect to the functions  $v_1(x)$  and  $v_3(x)$  with inhomogeneous boundary conditions.

The resulting problem is solved by the standard method. The proof of this lemma is complete.

#### 4 Proof Theorem 2.3.

We define the following functional

$$\begin{aligned}
E_0(t) = \int_{\Pi} \left[ \frac{\lambda_1}{2} |u_t(x, t)|^2 + \frac{\lambda_2}{2} |\varphi_t(x, t)|^2 + \frac{\mu^2 \lambda}{2} |\nabla u(x, t)|^2 \right. \\
\left. + \frac{\alpha^2 \lambda_2}{2} |\nabla \varphi(x, t)|^2 + \frac{\lambda_0}{2} |\theta(x, t)|^2 + \frac{1}{2} |w(x, t)|^2 \right] dx.
\end{aligned} \tag{4.1}$$

It is easy to see that there are  $c_1 > 0$  and  $c_2 > 0$  such that

$$c_1 E(t) \leq E_0(t) \leq c_2 E(t). \tag{4.2}$$

Considering (1.1), (2.1)-(2.4) from (4.1) we get

$$\begin{aligned}
\frac{d}{dt} E_0(t) = -k \lambda_0 \sum_{i=1}^n \int_{\Pi} \theta_{x_i}^2 dx - \gamma \sum_{i=1}^n \int_{\Pi} w_{x_i}^2 dx \\
- \lambda_1 \mu^2 \sum_{i=1}^n \int_{\Pi_i} |u_t(x_{1,i}, t)|^2 d\tilde{x}_i - \lambda_2 \alpha^2 \sum_{i=1}^n \int_{\Pi_i} |\varphi_t(x_{1,i}, t)|^2 d\tilde{x}_i \leq 0,
\end{aligned} \tag{4.3}$$

whence implies that

$$E_0(t) \leq E_0(0), \quad t \geq 0. \tag{4.4}$$

The following statements directly follow from the inequalities (4.3) and (4.4).

**Lemma 4.1** For weak solutions of problem (1.1), (2.1)-(2.7) the following estimates hold:

- (i)  $\sum_{i=1}^n \int_{\Pi} \theta_{x_i}^2 dx \leq -\frac{1}{k\lambda_0} \frac{d}{dt} E_0(t), t \geq 0;$
- (ii)  $\sum_{i=1}^n \int_S^T \int_{\Pi} \theta_{x_i}^2 dx dt \leq \frac{1}{k\lambda_0} E_0(S), 0 \leq S \leq T;$
- (iii)  $\sum_{i=1}^n \int_{\Pi} w_{x_i}^2 dx \leq \frac{1}{\gamma} \frac{d}{dt} E_0(t), t \geq 0;$
- (iv)  $\sum_{i=1}^n \int_S^T \int_{\Pi} w_{x_i}^2 dx dt \leq \frac{1}{\gamma} E_0(S), 0 \leq S \leq T;$
- (v)  $\sum_{i=1}^n \int_{\Pi_i} |u_t(x_{1,i}, t)|^2 d\tilde{x}_i \leq -\frac{1}{\lambda_1 \mu^2} \frac{d}{dt} E_0(t), t \geq 0;$
- (vi)  $\sum_{i=1}^n \int_{\Pi_i} |u_{x_i}(x_{1,i}, t)|^2 d\tilde{x}_i \leq -\frac{1}{\lambda_1 \mu^2} \frac{d}{dt} E_0(t), t \geq 0;$
- (vii)  $\sum_{i=1}^n \int_S^T \int_{\Pi_i} |u_t(x_{1,i}, t)|^2 d\tilde{x}_i dt \leq -\frac{1}{\lambda_1 \mu^2} E_0(S), 0 \leq S \leq T;$
- (viii)  $\sum_{i=1}^n \int_S^T \int_{\Pi_i} |u_{x_i}(x_{1,i}, t)|^2 d\tilde{x}_i dt \leq \frac{1}{\lambda_1 \mu^2} E_0(S), 0 \leq S \leq T;$
- (ix)  $\sum_{i=1}^n \int_{\Pi_i} |\varphi_t(x_{1,i}, t)|^2 d\tilde{x}_i \leq -\frac{1}{\lambda_2 \alpha^2} \frac{d}{dt} E_0(t), t \geq 0;$
- (x)  $\sum_{i=1}^n \int_{\Pi_i} |\varphi_{x_i}(x_{1,i}, t)|^2 d\tilde{x}_i \leq -\frac{1}{\lambda_2 \alpha^2} \frac{d}{dt} E_0(t), t \geq 0;$
- (xi)  $\sum_{i=1}^n \int_S^T \int_{\Pi_i} |\varphi_t(x_{1,i}, t)|^2 d\tilde{x}_i dt \leq \frac{1}{\lambda_2 \alpha^2} E_0(S), 0 \leq S \leq T;$
- (xii)  $\sum_{i=1}^n \int_S^T \int_{\Pi_i} |\varphi_{x_i}(x_{1,i}, t)|^2 d\tilde{x}_i dt \leq \frac{1}{\lambda_2 \alpha^2} E_0(S), 0 \leq S \leq T.$

Multiplying the first equation of system (1.1) by  $u_t + \eta_0 u + \eta \sum_{i=1}^n x_i u_{x_i}$  and integrating the obtained relation over the domain  $[S, T] \times \Omega$  we obtain

$$\begin{aligned}
 0 &= \int_S^T \int_{\Pi} \left( u_t(x, t) + \eta_0 u(x, t) + \eta \sum_{i=1}^n x_i u_{x_i}(x, t) \right) \\
 &\quad \times (u_{tt}(x, t) - \mu^2 \Delta u(x, t) + b \nabla \theta(x, t)) dx dt \\
 &= F(T) - F(S) + \int_S^T \Phi(t) dt + \int_S^T \Psi(t) dt + \int_S^T \Theta(t) dt, \quad (4.5)
 \end{aligned}$$

where

$$\begin{aligned}
 F(t) &= \frac{1}{2} \int_{\Pi} u_t^2(x, t) dx + \frac{\mu^2}{2} \sum_{i=1}^n \int_{\Pi} u_{x_i}^2(x, t) dx + \eta \sum_{i=1}^n \int_{\Pi} x_i u_t(x, t) u_{x_i}(x, t) dx \\
 &\quad + \eta_0 \int_{\Pi} u_t(x, t) u(x, t) dx + \frac{\eta_0 \mu^2}{2} \sum_{i=1}^n \int_{\Pi_i} u^2(x_{1,t}, t) d\tilde{x}_i, \quad (4.6)
 \end{aligned}$$

$$\begin{aligned} \Phi(t) = & \frac{\eta n}{2} \int_{\Pi} u_t^2(x, t) dx + \frac{\eta}{2} \sum_{i=1}^n \int_{\Pi} u_{x_i}^2(x, t) dx - \frac{\eta}{2} \sum_{i=1}^n \sum_{\substack{j=1, \\ j \neq i}}^n \int_{\Pi} u_{x_j}^2(x, t) dx \\ & - \eta_0 \int_{\Pi} u_t^2(x, t) dx + \eta_0 \mu^2 \sum_{i=1}^n \int_{\Pi} u_{x_i}^2(x, t) dx, \end{aligned} \quad (4.7)$$

$$\begin{aligned} \Psi(t) = & - \sum_{i=1}^n \int_{\Pi_i} u_t(x_{1,i}, t) u_{x_i}(x_{1,i}, t) d\tilde{x}_i - \frac{\eta}{2} \sum_{i=1}^n \int_{\Pi_i} u_t^2(x_{1,i}, t) d\tilde{x}_i \\ & - \frac{\eta}{2} \sum_{i=1}^n \int_{\Pi_i} u_{x_i}^2(x_{1,i}, t) d\tilde{x}_i + \frac{\eta \mu^2}{2} \sum_{i=1}^n \sum_{\substack{j=1, \\ j \neq i}}^n \int_{\Pi_i} u_{x_j}^2(x, t) d\tilde{x}_i \\ & - \eta \mu^2 \sum_{i=1}^n \sum_{\substack{j=1, \\ j \neq i}}^n \int_{\Pi_j} x_i u_{x_i}(x_{1,j}, t) u_{x_j}(x_{1,i}, t) d\tilde{x}_i, \end{aligned} \quad (4.8)$$

$$\begin{aligned} \Theta(t) = & b \sum_{i=1}^n \int_{\Pi} u_t(x, t) \theta_{x_i}(x, t) dx + \eta_0 \sum_{i=1}^n \int_{\Pi} u(x, t) \theta_{x_i}(x, t) dx \\ & + \eta \sum_{i=1}^n \sum_{\substack{j=1, \\ j \neq i}}^n \int_{\Pi} x_i u_{x_i}(x, t) \theta_{x_i}(x, t) dx. \end{aligned} \quad (4.9)$$

It follows from (4.5) that

$$\int_S^T \Phi(t) dt = F(S) - F(T) - \int_S^T \Psi(t) dt - \int_S^T \Theta(t) dt. \quad (4.10)$$

The parameters  $\eta$ ,  $\eta_0$  can be chosen so that the following inequalities are satisfied

$$\begin{aligned} \eta_0 \mu^2 - \frac{\eta(n-2)}{2} &> 0, \\ \frac{\eta n}{2} - \frac{\eta_0}{2} &> 0, \\ 1 - \eta - \frac{\eta \mu^2 n}{2} &> 0. \end{aligned}$$

Then it is easy to see that the following inequalities hold:

$$c_1 F_0(t) \leq F(t) \leq c_2 F_0(t), \quad (4.11)$$

$$\Phi(t) \geq c_3 F_0(t), \quad (4.12)$$

$$\Psi(t) \geq c_4 \sum_{i=1}^n \int_{\Pi_i} u_{x_i}^2(x_{1,i}, t) d\tilde{x}_i, \quad (4.13)$$



where

$$F_0(t) = \int_{\Pi} u_t^2(x, t) dx + \sum_{i=1}^n \int_{\Pi} u_{x_i}^2(x, t) dx, \quad (4.14)$$

$c_1, \dots, c_4$ , are some positive constants.

Using the Hölder's and Young's inequalities, we obtain that for any  $\varepsilon > 0$  there exists  $c(\varepsilon) > 0$  such that

$$|\Theta(t)| \leq \varepsilon F_0(t) + c(\varepsilon) \sum_{i=1}^n \int_{\Pi} |\Theta_{x_i}(x, t)|^2 dx. \quad (4.15)$$

In view of (4.10)-(4.14) we get

$$c_3 \int_S^T F_0(t) dt \leq c_2 E_0(S) - \int_S^T \Theta(t) dt.$$

Hence, by relation (4.15), we obtain

$$\begin{aligned} (c_3 - \varepsilon) \int_S^T F_0(t) dt &\leq c_2 F_0(S) \\ + c(\varepsilon) \sum_{i=1}^n \int_{\Pi} |\Theta_{x_i}(x, t)|^2 dx &\leq c_5 F_0(S), \quad 0 \leq S \leq T. \end{aligned} \quad (4.16)$$

Next, we multiply the second equation of system (1.1) by  $\varphi_t + \mu_0 \varphi + \mu \sum_{i=1}^n x_i \varphi_{x_i}$  and integrate resulting relation over the region  $[S, T] \times \Omega$ . By following the above arguments we get

$$\int_S^T F_1(t) dt \leq c_6 E_0(S), \quad 0 \leq S \leq T < +\infty, \quad (4.17)$$

where  $F_1(S) = \int_{\Pi} \varphi_t^2(x, t) dx + \sum_{i=1}^n \int_{\Pi} \varphi_{x_i}^2(x, t) dx$ .

It follows from Lemma 4.1 and estimates (4.10), (4.17) that

$$\int_S^T E_0(t) dt \leq c_7 E_0(S), \quad 0 \leq S \leq T < +\infty.$$

By Lemma 2.2, there exist  $M \geq 1$  and  $\omega > 0$  such that  $E_0(t) \leq M e^{-\omega t} E_0(0)$ ,  $t \geq 0$ . Then by (4.2) from this we get (2.13). The proof of this theorem is complete.

## References

1. Adams R.A.: *Sobolev Spaces*, Academic Press, New York, (1975).
2. Evans L.C.: *Partial differential equations, 2nd ed.*, Graduate Studies in Mathematics, **19** 749 (2010).
3. Eringen, A.C.: Linear theory of micropolar elasticity, *J. Math. Mech.*, **15**(6), 909-923 (1966).
4. Eringen A.C.: *Microcontinuum Field Theories*, Springer, Berlin, (1999).

5. Grot R.: Thermodynamics of a continuum with microstructure, *Internat. J. Engrg. Sci.* **7**, 801–814 (1969).
6. Iesan D.: On a theory of micromorphic elastic solids with microtemperatures, *J. Thermal Stresses* **24**(8), 737-752 (2001).
7. Iesan D., Quintanilla R.: On the theory of thermoelasticity with microtemperatures, *J. Thermal Stresses* **23**(3), 199-215 (2000).
8. Komornik V.: Decay estimates for the wave equation with internal damping, *International Series Num. Math. Birkhauser Verlag Basel*, **8**, 253-266 (1994).
9. Racke, R.: Thermoelasticity with second sound - exponential stability in linear and non-linear 1-d, *Math. Methods Appl. Sci.*, **25**(5), 409-441 (2002).
10. Racke R.: Asymptotic behaviour of solutions in linear 2- or 3-d thermoelasticity with second sound, *Quart. Appl. Math.* **61**(2), 315-328 (2003).
11. Wang Y.G.: Microlocal analysis in nonlinear thermoelasticity, *Nonlinear Anal.* **54**(4), 683-705 (2003).
12. Wang Y.G., Reissig M.: Parabolic type decay rates for 1-D-thermoelastic systems with time-dependent coefficients, *Monatsh. Math.*, **138**(3), 239-259 (2003).